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https://www.physicsclassroom.com/Physics-Interactives/1-D-Kinematics/Two-Stage-Rocket/Two-Stage-Rocket-Interactive

80

EEEEE S EEEEER D OANE- AN
| | | Inrity( 'n'q)' +45 -
T Height (m): 25 T
| [T Acceleration (m/s/s): | +8 | ]

1 Position vs Time

11250 | 1

10 |

a0 11 [ / Ll |

Cos0| | /

T P

:D'X2N D'QWDN 2V V1 NT-NNNN 9132 103NN

?NNYIIN7 NMNIVRIN N1MYA 6-2 NN NXIKN NN 4

?NNYIIN7 NIXAN NMMYD 6-2 NN DXINN N .5

NLPIN NVIIN NAY NT-NXIRN XDV .6

11an
nomMmm

nanmavnm

nmni

PX11'X W1 01T MY T 2V NNMa m'?2van | Rzl




JNT-NMNNN 9304 211211 ?22TN 2IN DDNYT? 'nn- .7

.DNIN XY DY DONAIWN DX MWD 121 INKR21,NT - NN Q22 1NNV 22270 2T D2 ek .8

1mmn
nomMm

maunayvnm

; nanvy
PR1T'X W1 R0 NIY T 2V NNNa M2wan CRIEA L,




?DN7?722Y 1aDNN NN 1TADN XD 72770 27KV VAN NN NXINN 21ann .9

7NLRPIN NV 12RY 2nDPnn nan nn .10

2NLRPIN NXXIAaNN Naw NN W11

Y1X'an 1N NN NN NN 1avn 12

2RwN 22 2y 1 Take Quiz 2y n2yn? n"2xnwin N1aiixn? .13

12NV 2207 X710 DNKY 20N A 2TannN 0N avn L"nain 20" ixan nwba ax oo 14
R1IPalval

nan
4 noTmI

manmavnm

; mans
PN7'X W1 P01 T NIY T 2V NNMa M2wan AL



https://www.youtube.com/watch?v=dg0ZiLU7a2A

